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point 13 1251I is decreasing on f D3 and increasing on 13oo absolute
f is concaveupon Cago andon 12 D minimum
it isconcavedown on to27

Thegraphhastwo inflection points as shown Thecriticalpoint 6 lo
isnot a localextremism it is an inflection pointwhere the
tangent line happens to behorizontal
Theonlyother criticalpoint CB 1257 is a localminimum it
isalsotheabsoluteminimumpoint
Sincebing.fm lyingfG n there is noglobal maximumpoint
There is no localmaximum no asymptotes and no evident
symmetry C f is neither even nor odds
They interceptis to The x intercepts are at approximately0.8604 and 3,968

NB Iforgotthat in Sec4.3weweren't askedforthismuch detailaboutthe
function somyanswers lookmuchmoreliketheanswersfrom Sec9.4
However I suppose if I leave all this extra explanation in you can
probably dealwiththat
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f is increasing on Cogo
anddecreasing on 6od
f is concaveup on CN tr and a Cfg a

it is concavedown on ft Tg
SinceYingtext lyingFM o the xaxisis a horizontal asymptoteand

there is no localorglobalminimumfor f However f has a unique
criticalpointfor which is botha localandglobalminimumpoint
Thereare twoinflectionpoints as labelled and no vertical
asymptotes



See94
36 tex h httD is an evenfunction so itsgraphis symmetric

fIx 21 aboutthey axis
x'ti g

tha s iI
a be

I o t
l l l

t I 4 5 x

f O 0,0
f o t t t t t t 0

f is decreasing on Cago increasingon logo
concaveup on CI i andconcave down on to i and on Crco

Sincejig fix fig jfk D t hasno absolutemaximum

Its onlycriticalpoint is 10,07 which is both a localandabsolute
minimum There is no localmaximum andthere are no
asymptote Theonly intercept is theorigin10o which is both a
interceptand a yintercept
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38 fIx x 3 43 t hasno obvioussymmetry

fEx e 2 43 to
it is neither even nor odd

f t Ex xto
Criticalpoints are at 0 where f is undefined and8 where
f 8 o y
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f J L J
ten III µf is increasing on l d o andon gao Q 4
decreasing on 10,8 and concaveup
on bothtooo and op

It hasnoinflection points It hasa
localminimumpoint 8 41anda local
maximumpoint tool There are no
asymptotes and no absolute extrema
since him 7Cx a himfex oo

x a x

Notethat f is continuouseverywhere butnotdifferentiableat0
where thegraphhas a wasp
f hastwo x intercepts at 0 and271 Its y intercept is at 0
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f isdecreasing onC3 2 and
increasingconC2 oo
f isconcaveuponC3oo
Notethat f is continuouson 13oo
anddifferentiable on C3 a
It hasnoinflectionpoints
liz fix fl 3 o andLingfCx

sothere is no absolutemaximum and
no asymptotes
ThelocalminimumpointC2 2 isalso
theabsoluteminimum


